Lead Directing Doubles II
II.  Doubles of Slams
Slam doubles can easily be divided into two categories: no trump slams and suit slams. Doubles of NO TRUMP slams simply call for dummy’s first bid strain, not necessarily the first bid suit.



South
West
North
East
In this situation, East is not looking for a club lead. Dummy did not bid clubs.
1NT
Pass
  2C
 Pass

Clubs was artificial. Dummy has implied only one suit, and that is hearts. 

2S
Pass
 6NT
 Dbl
West should lead a heart. 

Doubles of voluntarily bid suit slams (as opposed to sacrifices) are a bit more involved. Basically, it amounts to this: If the doubler has the contract defeated in his own hand, regardless of the lead, he doubles. However, most of the time, it takes a specific lead to defeat a slam contract. Therefore, doubles of slams are lead directing, asking for an unusual or unexpected lead. There are a series of  “Do’s” and “Do Not’s” to be familiar with. 
1. DO NOT lead a trump

2. DO NOT lead any suit that you or your partner have bid

3. If there is only one unbid suit, DO NOT lead it. That is the expected lead, and if partner wanted it, he would have passed. 

Here are the “DO’s”
1. If the opponents have bid only one suit (besides trump), lead that suit.

2. If partner has made a preemptive bid, and then doubles a slam, it is usually because he has a void. A great player like you can figure out which is the void suit by looking at your hand. 

3. When in doubt, lead dummy’s first bid suit. 

4. Another reason for doubling, other than having a void, is having AKx in a side suit that the opponents have mentioned. If your hand and the nature of the auction make it unlikely that partner has a void, lead a bid suit and hope for the best.

III.  Doubles of (Non-Slam) No Trump Contracts 




A:  Doubles of One No Trump – two common cases:




1.
South
West
North
East
  

West has an opening one heart bid. The double is not for takeout, and a 
  
1H        Pass
 1NT
Pass
heart lead is expected, but not mandatory.





 Pass
 Dbl










2. 
South
West
North
East
East has an opening one spade bid, and if everyone passes, West should

  1C
 Pass
  1S
Pass

usually lead a spade. 








  1NT
 Pass
  Pass
Dbl
B:  Doubles of Two No Trump:






East has either a running suit, or a solid suit with an entry.  West 

3.
South
West
North
East
should lead his shortest suit, preferably a major, but definitely a


 2NT
 Pass
 Pass
Dbl
suit that has no honor cards. 











4.
South
West
North
East
East is asking for a heart lead, dummy’s first bid suit.



  1C
 Pass
 1H
Pass












  2NT
 Pass
 Pass
Dbl
C:  Doubles of Three No Trump:
This is the hardest of all of the lead directing sequences, because there are several ways that the opponents can reach 3NT, and different sequences will imply different things. Alert defenders must be aware of the auction, as well as what partner will be expecting when he makes a lead directing double. 
1.     When no suits have been bid:






South
West
North
East
This case is identical to a double of an opening 2NT bid. East has a running suit
 1NT
 Pass
 3NT
Dbl

or perhaps a near-solid suit with an outside ace. West is supposed to figure out 

from his hand which suit East has. For example, if West holds: 

♠ Jxxx   ♥ Qxx   ♦ x   ♣ QTxxx, he leads a diamond, partner’s most likely suit. 












South
West
North
East


2.     When two suits have been bid by the opponents:



  1C
 Pass
  1H
Pass
East knows that the suits are breaking poorly, and declarer may have trouble
  1NT
 Pass
  2NT
Pass

bringing home his thin game. East is asking for a heart lead, dummy’s 1st bid suit.
  3NT
 Pass
  Pass
Dbl
3.     When dummy has bid two suits:





South
West
North
East
West must decide from his hand which suit East wants, hearts or diamonds. 
  1C
 Pass
  1H
 Pass

(Some play that the double unequivocally calls for a heart lead, but hey, 

  2C
 Pass
   2D
 Pass

computers can do that). One thing is certain: East does not want a spade lead.
 2NT
 Pass
  3NT
 Dbl
4.     When the doubler has bid a suit:





South
West
North
East
East likely has a heart card, but he definitely wants a diamond lead. 

  1C
 Pass
  1H
 2D











  2NT
 Pass
  3NT
 Dbl

5.     When the doubler’s partner has bid a suit: 

East likely has a spade card, but the double suggests a singleton or doubleton
South
West
North
East
honor in partner’s overcalled suit. If East had only good spades, pass would be
  1C
 1H
  1S
Pass

a logical alternative, since West may elect to lead a spade anyway. If East is 
  1NT
 Pass
 2NT
Pass

looking at a heart honor, West probably has quite a broken suit, and might very
  3NT
 Pass
 Pass
Dbl
well elect to lead something else. The double tells West it’s ok to lead his own suit. 

6.     When the doubler and his partner have each bid a different suit

South
West
North
East
There is not a unanimous consensus of opinion on this one.  Some play that 
 1C
 1H
 1S
 2D

that the double demands my suit, and others believe that the double says

 2NT
 Pass
3NT
Dbl
to lead yours. I’m firmly in the latter camp. Most of the time, when both 

defenders have bid suits of their own; the opening leader will elect to lead his partner’s suit unless he has a terrific sequence of his own. That’s common sense.  In general, you lead toward strength. Therefore, if the required defense to defeat a contract is for partner to lead your suit, I would pass and fully expect that to happen. However, if the necessary defense is going to require partner to lead his own suit, then somehow we have to send that message across the table. One way, of course, is to raise partner when you want his suit led, and bid your own suit when that’s what you want. Holding a doubleton honor, this can be impractical. Thus, I recommend that if you want your own suit led, you pass. If you want to alert partner to lead his own suit, you double. 
Now that we’ve sent the proper message, the opening leader must still be called upon to use his judgment.  If:

a) His own suit has a strong sequence, he leads it

b) He has a high honor in partner’s suit and a weak suit of his own, he leads partner’s suit

c) His own suit is weakish and he has an indifferent holding in partner’s suit, he leads his own suit if partner has doubled, and partner’s suit if he has passed.  If his own holding is very poor, he leads partner’s suit, and hopes that partner will have enough in his suit to beat the contract.  The most common lead, unless partner doubles, will be partner’s suit.

Assuming the auction above, if West holds the following hands:



♠ 654   
♥ KQJ84   
    ♦ 2   
♣ K932

Lead the King of Hearts

(Personally, I would lead the ♥K only if partner passes. If he doubles, I would lead the ♥8. Partner likely holds a singleton or doubleton ♥A.  Leading the King, he would be forced to overtake, promoting ♥T9xx in declarer’s hand)




♠ 654   
♥ K5432   
    ♦ K5  
♣ AT3

Lead the King of Diamonds


♠ 654   
♥ KT432   
    ♦ 8   
♣ AQ92

Lead the Three of Hearts
Lesson Hands:


S: ♠ A J T 3

I.




H: ♥ T 8






D: ♦ K 2






C: ♣ A Q J T 9

S: ♠ 4







S: ♠ 6 2


H: ♥ J 7 6 5 2





H: ♥ K Q 4 3


D: ♦ Q J T 7






D: ♦ 9 5 4 3


C: ♣ 8 6 3






C: ♣ K 4 2

S: ♠ K Q 9 8 7 5






H: ♥ A 9






D: ♦ A 8 6






C: ♣ 7 5


North

East

South

West

  1C

Pass

  1S

 Pass

  3S

Pass

  4NT

 Pass

  5H

Dbl

  5NT

 Pass

  6D

Pass

  6S

 All Pass
Opening Lead: ♥ 5

West leads a heart instead of the Queen of Diamonds thanks to partner’s lead directing double. South wins the Ace or Hearts, draws trump, plays King, Ace, and ruffs a diamond, and leads the ♥ T from dummy. East must play low and allow West to win the Jack, or else East can see that he will be endplayed. If West does not have the Jack of Hearts, the contract cannot be defeated. 6♠ is cold with any other lead. 

II.




S: ♠ Q 3






H: ♥ K 7 6 3 2






D: ♦ A K Q J






C: ♣ T 5

S: ♠ K 9 8 5 4




S: ♠ 7 6 2


H: ♥ J
 





H: ♥ A Q T 9 8


D: ♦ T 9 8 4





D: ♦ 3 2


C: ♣ 7 4 2





C: ♣ A 6 3

S: ♠ A J T






H: ♥ 5 4






D: ♦ 7 6 5






C: ♣ K Q J 9 8



North

East

South

West


  
  1H

 Pass

  2C

Pass

  2D

 Pass

  2NT

Pass



  3NT
 
 Dbl

All Pass

Opening Lead: ♥ J

East’s double calls for one of dummy’s suits. West reasons that East is long in hearts, and leads the Jack. Dummy plays low, and East must not be asleep at the switch! East overtakes with the Queen, and continues the suit. Eventually, East gets in with the Ace of Clubs and scores his remaining hearts to defeat the contract one trick. Without the double, West leads a spade and South takes 10 tricks easily. 

III.




S: ♠ T






H: ♥ J 9 7 3






D: ♦ 7 6






C: ♣ J T 8 7 5 2

S: ♠ 6 3






S: ♠ 7 5 2


H: ♥ T 8 6 5 4 2





H: ♥ ----


D: ♦ 8 4






D: ♦ A Q J T 9 3 2


C: ♣ K Q 9






C: ♣ 6 4 3

S: ♠ A K Q J 9 8 4






H: ♥ A K Q






D: ♦ K 5






C: ♣ A



South

West

North

East

  2C

 Pass

  2D*

Dbl (or 3D)
  4NT

 Pass

  5C

 Pass

  6S

 Pass

 Pass

 Dbl

(All Pass)

Opening Lead: ♥ 2

East’s double forbids West to lead a diamond, a suit he bid. Since East is likely to have a void, West leads the ♥ 2 to show club strength. East ruffs, and must eventually score the ♦ A Whether or not he cashes that card at trick two. With any other lead, 6♠ is cold. (South can lead a spade to dummy’s ♠10 to finesse in diamonds). If South elects to run to 6NT, West leads the King of Clubs
IV:




S: ♠ A J 3 2






H: ♥ K 6 5






D: ♦ Q J T 9






C: ♣ 5 4

S: ♠ T 9 8 7 6





S: ♠ 4


H: ♥ J 9 8
 





H: ♥ Q T 7 3


D: ♦ K 4






D: ♦ 8 5 2


C: ♣ 8 7 2






C: ♣ A Q J 9 3

S: ♠ K Q 5






H: ♥ A 4 2






D: ♦ A 7 6 3






C: ♣ K T 6




South

West

North

East


  
  

1NT

Pass

  2C

Dbl
 

 Pass

Pass

  3NT

All Pass

Opening Lead: ♣ 2

East’s double asks for a club lead. South’s pass indicates a club stopper and no 4 card major. (With no club stopper and no 4 card major, South bids 2♦. With 4 or 5 good clubs, South would redouble). West leads as if he were leading his partner’s suit (low from 3 or 4, top of a doubleton). East plays the ♣ J to retain communication with his partner’s hand. (He knows from the lead, that partner has 3). South counters by ducking the ♣ J, hoping the hold-up play can exhaust West of clubs. East retaliates by leading the ♣ Q. If South believes that West has the ♣ A (he shouldn’t), he ducks again and gets no club tricks. After he takes the ♣ K, however, South cannot come to 9 tricks without the diamond finesse. In with the ♦K, West leads his carefully preserved last club to get to partner for the setting tricks. Note that West would lead a spade without the double, and only a club lead defeats 3NT. 
Lead Directing Doubles Quiz
I.     Sitting West you hold: 
 ♠ KJ65  
♥ 54  
    ♦ JT76   
♣ Q43

       What do you lead in each of the following bidding sequences?

  a)
South

West

North

East
  
b)       South
            West
         North
  East
 1NT

 Pass

  2NT

Pass

  
1C

Pass

1H
  Pass
 3NT

 Pass

  Pass

 Dbl

  
1NT

Pass

2NT
  Pass

 All Pass






  
3NT

Pass

Pass
   Dbl

  









All Pass

c)      North

East

South

West

  


 1H

 Pass

 1NT

 Pass


 Pass

 Dbl

All Pass

II.     You are West holding: 
  ♠ 5  
  ♥ JT94      ♦ JT96      ♣ 7652  with the following auction:


North

East

South

West

  

  1C

 Pass

 1S

 Pass


  2S

 Pass

 4NT

 Pass


  5D

 Pass

 5NT

 Pass


  6D

 Pass

 6S

 All Pass

What do you lead?

III.    You are East, with the following auction:
South

West

North

East

  

  





 1NT (15-17)   Pass

  2C

  ??

What do you bid with the following hands?

a),
♠ A5
  
♥ 765
    ♦ Q8  
♣ Q87654

b).
♠ A5
  
♥ 654
    ♦ J5   
♣ KQT943

c).
♠ 54
 
♥ A43
    ♦ ---   
♣ KQJT8765
IV.    You are West, with the following auction: 
South

West

North

East

  

  





 2NT

 Pass

  3NT

Dbl

What do you lead with each of the following hands?


a).
♠ T98652  
♥ A76
    ♦ 654  
♣ 3

b)
♠ 54
  
♥ 54
    ♦ QJ843  
♣ J876
V.     You are East, holding:  ♠ 64  
♥ AKQJ864
    ♦ JT98 
♣ ---    with the following auction:


South

West

North

East

  

  2C

Pass

  2D

 4H


 4NT

Pass

  5D

 Pass


  6S

Pass

 Pass

  ??

What is your call?

VI.    You are West, holding:  ♠ 542
   ♥ QJT9
 ♦ J76      ♣ 6532   with the following auction:

South

West

North

East

  

  1S

Pass

  2C

 Pass


  4C

Pass

  4S

 Pass


 4NT

Pass

  5C

 Pass


  6S

Pass

 Pass

 Dbl
All Pass. 
What do you lead?

VII.   You are East, holding:   ♠ AKJ8      ♥ 6543
     ♦ A2     ♣ 654    with the following auction:
North

East

South

West

  

  1H

 1S

  5D

 Pass


  6D

  ??






What call do you make?
Lead Directing Doubles Quiz Answers

I. a).   The Five of Hearts. Partner is supposed to have a solid suit somewhere, and from your hand it looks as 

             though it is hearts.
b).   The Five of Hearts. Lead dummy’s suit if neither you nor your partner has bid.

c).   The Five of Spades. The “book” says that the lead should be the 5 of Hearts. I don’t believe that a 

       heart lead should be mandatory here. Partner’s double is announcing that he holds an opening 1H bid,  

       however when declarer almost certainly needs heart tricks to make his contract, why develop his suit 

       for him?  Since you were never going to be able to lead hearts more than once or twice, I think it 

       makes more sense to lead your best suit, and perhaps switch to hearts later. Still, a heart lead could 

       easily be right, and if the spade lead works out poorly, have your apologies ready. 
II. The Jack of Hearts. Partner had two chances to double diamonds, but he didn’t. He could have doubled 6♠ if he wanted a club lead (dummy’s first suit), but he didn’t. By the process of elimination, we try a heart. 

III. a).   Pass. Your clubs are weak, and you have no reason to believe a club will be the best lead.

b).   Double.  You want a club lead against any eventual contract, particularly no trump.

c).   4C.  You could double, but when holding a strong seven or eight card suit, a preemptive jump is 
 usually much more effective. 
     IV. 
      a).   The Three of Clubs. Partner is supposed to have a solid or near-solid suit somewhere, and from your 

 hand, it looks as though that suit is clubs. 
                  b).   A Major. It helps to be religious on this one. Partner is loaded in either hearts or spades, and you have 



 to guess which one it is. Good luck. 
     V.
      Double. Your double bars partner from leading either a heart or a trump. Hopefully, his holding will 


      help him to work out that you have a club void. 
VI. A club. When the opponents have bid only one side suit, partner’s double calls for that suit. He is almost certainly void, with an outside ace. Note that he couldn’t double the Blackwood response of 5C, since the opponents could have easily redoubled and played it there.

VII. PASS!  A double by you would forbid a spade lead, which is the lead you want. Do you want to beat this hand (maybe) undoubled, or double and risk it making? Remember, you only get an extra 50 (or 100) points for beating a doubled contract one trick, so the double is far more effective in directing a lead. You want your suit led, so pass. 















